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1r192 Co60
100kV 150kV 220kV 250kV 400kV 1MV 2MV  |4~25MV O H
0. 05 0.05 0.08 — — — — — — —
0. 08 0.12 0.18 — — — - - 0. 35 0. 35
0. 10 0. 14 0.18 — - - — — 0. 35 0. 35
— 0. 54 0. 54 - 0.71 0.9 0.9 0.9 0.9 0.9
1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
1.5 1.6 1.4 1.4 1.4 1.1 1.1 1.2 1.1 1.1
— 1.4 1.3 — 1.3 — — 1.2 1.1 1.0
— 1.4 1.3 — 1.3 1.2 1.1 1.0 1.1 1.0
— 1.4 1.3 — 1.3 1.3 1.3 1.3 1.3 1.3
1.7 - 1.2 — — - - — — —
2.4 2.3 2.0 1.7 1.5 1.0 1.0 1.0 1.2 1.0
14.0 14.0 12.0 — — 5.0 2.5 2.7 4.0 2.3
— - 14.0 12.0 9.0 3.0 - - — —
- - 20.0 16.0 12.0 4.0 — 3.9 12.6 3.4
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11.2
s 3 o
3
X Y A B
<400 kV % 0.02~0. 25 mm
1r192 0.05~0. 25 mm
0.1~0.5 mm 0.4~0.7 mm
Cob60 % *
1~2 MV 0.1~1.0 mm
2~6 MV 1.0~1.5 mm
6~12 MV 1.0~1.5 mm, 1.5 mm
12 MV 1.0~1.5 mm s
* 100 kV X B
* % 40~60 mm s B o
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b o 9
X 4 o
4 mm
1r192 20~100(10~100) * 15~90 5~40
Co60 40~200 20~170 15~125
1~2 MV X 50~200 — —
2 MV X 50 — —
1r192 40~90(10~90) * 35~80 15~35
Co60 60~150 50~135 40~100
1~2 MV X 60~150 — —
2 MV X 60 — —
*
14
14.1 kV X
200 kV X 0.5 mm ;
400 kV X 1.0 mm o
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5
D cd/m?
1.0 300
‘ 1.5 1.000
30cd/m?
2.0 3.000
2.5 10,000
. 3.0 10,000
10cd/m?
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( )
D1
D1
800 mL 800 mL
ig 6g
65 g 70 g
( 10 g 20 g
45 g 60 g
58
10 g
1000 mL 1000 mL
D2
D2
C 18 20 22 24 26
min 7 6 5 4
D3
D3. 1 3
D3. 2 s 1 m* 320 mL . 1 m?
600 mL 280 mL o
D3. 3



